EERMVEHMATRIIEERF =2 XH5FE §RES

- SR 113&#3% 6p 15:00
NEal- )=
SAR D ZREP R N 2R S X R,
SR AR A ERE (B A AR 113 4 FwmOR 12 4 DA
92.3%4z 3 2/3)
ACARTEEE
SN FERLY K G RE s HEN
PN |‘E‘§F? :
(= )R RAFCRTHR T St 112/1024(3 9 2N 2 B 112 8 &2 R 9 [ Bz 5 4
AP RAFTRS P AT DS = T ¢ AR FRAER T
AP A2 ERATHAEN REERFETH FREEES
HHE € FRHARTE $a*%ﬁ%’ﬁﬁs%ﬁ@ﬁ%$%§o
CH)rRER W I2FERERIFEREE > W EFRFGATHE LR
Bl o FA AR S BV B T Y ) B KT ARG V)
A3 FERFAREN AT E RIS
CIERFAFTIET v HE AT TR -
1~ HExHG
Fd - PARIBEERERER 2 FRACHARFRE Gt o
P
-~ AR L N 112 B E R GRGE ¢ R TG 2 R
SR RGRAE R BB AR I3 F E RS R R - 12 E B
Lo ERRGRE 0 RN TR Sl AT & VB
BAF A At - o
AR RIEERICHAGHRF CU B > B LB KETT €2 HPE
YRRt 2 R mieiT 1138 RGN HED -

|

By

B

Iy

PR
1 LREFYZHEEEY SEAK
£ E AEEY ek e R S S
i 20 (B *2 & B*1) 23
§E B 25 6(E2*2BHE*2 G L |31 %39 %
*] F k1) A2l T
+1=32 #
B E & 26 6(# <> *1 BH*2 3R |32
1 Heg 1 Farl)




20 - CARIBEEFAFFTERLLER 0GR - 0 3%

W

-‘iﬁﬁ?ég%?ﬂwwﬂﬂﬁﬂu)%%TM?EEﬁN“‘ﬁ%ﬁfﬁﬁ
AP E8AeT N - AR GERE Y YRRV - T )

@A F T4 http://course. cyc. edu. tw/pFfc 1113 # 6 * 3 p

(B8-) 31113 #6 *7p (%37 ) T=HE -
2. ¥R (BREGERMERE VG E ) L B @ 1113
#7771 p (2%-)32113&#7 *5p (A#H7) T=5 8t o

S ARGHAEFRELER RS T RALLFIE 0 Ao B IS b A s A
HFH® -

AR

R ARI2FE5 - RYPARAHER -~ LEV RS RY n2 B8R
VAR R S SR R 2 R e

B
-~ ARI2FEERS - % %ﬁMW#ﬁ\éé SR RER S
?%ﬁivﬁ roogd Mk g~ LB REFY § 2 HEEY
33;‘3‘%‘:—; 2L ;{,;\; g‘
B ﬁh%ﬁpﬁ?%ﬂiﬁ A RAZ 2 0 A d ki i
w’ﬁiﬁ”%ﬁkﬁ 6% LY ARl PR TS 3k
AP NI ) %?E?%LIK#%
P
Xduw ARIBFER LB KAREY 2 0 LB KEET 2057 20
Pan g o gt e
L
-~ RIBERAKTEF N IEL _‘?ﬁ:lﬁﬁ:}i M2F RN E 2R
PERPRETEY ARF AR FRESFET KR > &
EE51 3l pHad .
I LARKEFT EEMAIFELGR RITS e BRAE S =
B
raa
N =2 k=

Lok



